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Fig. S1_1. Area under receiver-operator curve (ROC AUC) for treatment response classifiers for ten cancer datasets (see Table 1). The classifiers were based on SVM (A), kNN (B), RF (C), RR (D), BNB (E), ADA (F) and MLP (G) with default in-built parameter settings according to the Python package sklearn (Pedregosa et al., 2012). The color legend shows absence or presence of FloWPS in the classifier analytic pipeline and the value of relative balance factor B. On each panel, each violin plot shows distribution of values for eleven cancer datasets. 
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Fig. S1_2. Sensitivity (SN) for treatment response classifiers for ten cancer datasets (see Table 1). The classifiers were based on SVM (A), kNN (B), RF (C), RR (D), BNB (E), ADA (F) and MLP (G) with default in-built parameter settings according to the Python package sklearn (Pedregosa et al., 2012). The color legend shows absence or presence of FloWPS in the classifier analytic pipeline and the value of relative balance factor B. On each panel, each violin plot shows distribution of values for eleven cancer datasets. 
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Fig. S1_3. Specificity (SP) for treatment response classifiers for ten cancer datasets (see Table 1). The classifiers were based on SVM (A), kNN (B), RF (C), RR (D), BNB (E), ADA (F) and MLP (G) with default in-built parameter settings according to the Python package sklearn (Pedregosa et al., 2012). The color legend shows absence or presence of FloWPS in the classifier analytic pipeline and the value of relative balance factor B. On each panel, each violin plot shows distribution of values for eleven cancer datasets. 
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